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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2022 

ECOACOR13T-ECONOMICS (CC13) 
INDIAN ECONOMY 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks.  pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের। 
Candidates should answer in their own words  পরীkাথ�ীরা িনেজর ভাষায় যথাসmব শbসীমার মেধ°  
and adhere to the word limit as practicable. উtর  কিরেব। 

1. Answer any five questions from the following:
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Mention two structural constraints that Indian economy is facing nowadays.  
ভারতীয় অথর্নীিত বতর্মােন েয কাঠােমাগত pিতবnকতাgিলর সm ুখীন হেc তােদর মেধ° েয-েকােনা 
dিটর উেlখ কেরা। 

(b) Mention two failures of Indian Five Year Plans. 
ভারেতর পĀবািষর্কী পিরকlনার dিট ব°থর্তা উেlখ কেরা। 

(c) What is meant by ‘Plan Holiday’? 
পিরকlনায় ছুিটর িদন বলেত কী েবাঝায় ? 

(d) Write two major features of Indian economy at independence. 
sাধীনতাকােল ভারতীয় অথর্নীিতর dিট pধান �বিশেŶ°র উেlখ কেরা। 

(e) Cite four major self-employment programmes adopted in India. 
ভারেত গৃহীত pধান চারিট sিনযুিk pকেlর নাম েলেখা। 

(f) Define seasonal unemployment. 
মরসুমী েবকারt বলেত িক েবােঝা ? 

(g) State two major changes in monetary policy adopted in India in post liberalisation 
period. 
ভারতবেষর্ উদারীকরণ পরবতর্ী যুেগ গৃহীত আিথর্ক নীিতেত েয পিরবতর্ন এেসিছল তার মেধ° েয-
েকােনা dিটর উেlখ কেরা। 

(h) What is the rank of India in respect of Human Development Index in 2020? 
মানব উnয়ন সূচক-এর িনিরেখ ২০২০ সােল ভারেতর মযর্াদা kমাì কত ? 

  
2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 
5×4 = 20

(a) Mention four basic characteristic features of economic development in India in 
recent past. 
িনকট অতীেত ভারতবেষর্র অথর্ৈনিতক উnয়ন-এর চারিট �বিশŶ° উেlখ কেরা। 
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(b) Mention four remedies to growing educated unemployment in India in recent 
times. 
বতর্মান সমেয়র kমবdর্মান িশিkত েবকারেtর চারিট সমাধান উেlখ কেরা। 

(c) Describe the picture of child education in India. 
ভারেত িশǖিশkার িচtিট বণর্না কেরা। 

(d) What type of changes in the trend in income inequality do we observe in India in 
the post liberalisation period? 
ভারতবেষর্ উদারীকরণ পরবতর্ী যুেগ আয় বĊেন �বষেম°র pবণতায় কী ধরেনর পিরবতর্ন আমরা লk° 
কির ? 

(e) Write a short note on Indian fiscal policy. 
ভারেতর রাজs নীিতর উপর একিট সংিkp টীকা েলেখা। 

(f) Which sector of the Indian Economy has experienced maximum growth during 
the last two decades? What are the reasons behind it? 
িবগত dই দশেক ভারতীয় অথর্নীিতর েয েktিট সবর্ািধক বৃিdর অিভjতা অজর্ন কেরেছ েসিট 
েকানিট ? এর িপছেন কারণgিল কী কী ? 

  
3. Answer any two questions from the following:  

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

(a) Discuss the role played by the public sector and private sector in the Indian 
Economy. 
ভারেতর অথর্নীিতেত সরকারী ও েবসরকারী েkেtর ɛিমকা আেলাচনা কেরা। 

(b) Analyse the nature of unemployment problem in India and the efficacy of 
different employment guarantee programmes initiated by the Government of 
India.  
ভারেত েবকার সমস°ার pkিত িবেųষণ কেরা এবং এই সমস°া সমাধােনর জন° সরকারী কমর্সংsান 
pকlgেলার কাযর্কািরতা পযর্ােলাচনা কেরা। 

(c) Critically examine the role of Decentralised planning to reduce inequality in 
income distribution in India. 
ভারতবেষর্ আয় বĊেন �বষম° hাস করেত িবেকndীɛত পিরকlনা-এর ɛিমকা িবচার কেরা। 

(d) Enumerate and analyse the differences between the Planning Commission and the 
Niti Aayog in the context of planned economic development in India. 
ভারতবেষর্র পিরকিlত অথর্ৈনিতক উnয়েনর পিরেpিkেত পিরকlনা কিমশন ও নীিত আেয়ােগর 
মেধ°কার পাথর্ক° িনণর্য় কেরা ও িবেųষণ কেরা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 

 
——×—— 

 



CBCS/B.A./B.Sc./Hons./6th Sem./ECOACOR14T/2022 

6061 1  Turn Over 

 
WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2022 

ECOACOR14T-ECONOMICS (CC14) 
INTERNATIONAL ECONOMICS  

Time Allotted: 2 Hours Full Marks: 50 
The figures in the margin indicate full marks.  pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের। 
Candidates should answer in their own words  পরীkাথ�ীরা িনেজর ভাষায় যথাসmব শbসীমার মেধ°  
and adhere to the word limit as practicable. উtর  কিরেব। 

1. Answer any five questions from the following: 
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What are the causes of trade between two countries?

dিট �দেশর মেধ° িক িক কারেণ বািণজ° হেত পাের ? 
(b) Define comparative advantage when labour is the only factor of production.  

Ëম যখন উৎপাদেনর একমাt উপাদান, তখন tলনামলূক ব°য় সুিবধার সংjা দাও। 
(c) What is the infant industry argument for tariff protection?

আমদািন ǖেlর পেk ‘িশǖ িশl সংরkণ’ যুিkিট িক ? 
(d) What is meant by effective rate of protection?

সংরkেণর কায�করী হার কােক বেল ? 
(e) Distinguish between nominal and real exchange rates.

আিথ�ক ও pkত িবিনময় হােরর মেধ° পাথ�ক° িক ? 
(f) Give an example of absolute advantage in international trade with two countries, two 

products and one factor of production. 

dই �দশ, dিট dব° এবং একিট উপাদােনর �pিkেত িবƬবািণেজ° চরম সুিবধার একিট উদাহরণ দাও। 
(g) What will be the shape of the production possibility curve with constant opportunity 

cost of production for both commodities? 

সুেযাগ ব°য় িsর থাকেল উৎপাদন সmাবনা �রখার আkিত �কমন হেব ? 
(h) Give two examples of transaction in current account in Balance of Payment.  

�লনেদন ব°ােলেnর �kেt চলিত খােতর �লনেদেনর dিট উদাহরণ দাও। 
  

2. Answer any four questions from the following: 
িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) Show that in Ricardian Model, gains from trade of a country can be decomposed into 
two parts.  

�দখাও �য িরকািড�য়ান মেডেল আnজ�ািতক বািণজ° �থেক একিট �দেশর লাভেক dিট ভােগ িবভk 
করা যায় । 
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(b) State and prove Rybczynski Theorem.
িরবিজন ্ sী pিতপাদ°িট �লেখা এবং pমাণ কেরা। 

(c) What is optimum tariff? Derive the formula of optimum tariff.

কাম° আমদািন ǖেlর হার বলেত িক �বাঝায় ? কাম° আমদািন ǖেlর ফমু�লািট িনণ�য় কেরা। 
2+3

(d) Write a short note on foreign trade multiplier with foreign repercussion effect.  

�বেদিশক বািণজ° gণকিট িরপারকাসন ্  pভাব সহকাের ব°াখ°া কেরা। 
(e) Explain the partial equilibrium effect of import quota.

আংিশক ভারসাম° ব°বsায় আমদািনর পিরমাণগত িনয়ntেণর pভাব আেলাচনা কেরা। 
(f) What is meant by ‘Leontief Paradox’? What are the possible explanations of Leontief 

Paradox?  
িলওনিটেয়েফর kটাভাস বলেত িক �বাঝায় ? এই kটাভােসর সmাব° ব°াখ°াgিল িক িক ? 

  

3. Answer any two questions from the following: 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) Establish the Heckscher-Ohlin theory of trade in terms of physical definition of 
factor abundance.  

উপাদানগত pাcেয�র �ভৗত সংjার সাহােয° আnজ�ািতক বািণেজ° �হkচার-ওিলন তttিট ব°াখ°া কেরা। 
(b) Define Balance of Payment equilibrium. How do you relate current account deficit 

with government budget deficit and deficit in domestic private saving investment 
sector?  
আnজ�ািতক বািণেজ° �লনেদন সমতা বলেত িক �বাঝায় ? আnজ�ািতক �লনেদেনর চলিত খােত ঘাটিত 
িকভােব সরকাির সাধারণ বােজেট ঘাটিত এবং �দশজ সĀয় িবিনেয়াগ ঘাটিতর সােথ সmক�যুk, তা 
ব°াখ°া কেরা। 

5+5

(c) (i) Define and derive offer curve of a country.
(ii) What is meant by elasticity of offer curve? Explain. 

(i) �কান �দেশর বািণজ° psাব �রখার সংjা দাও এবং বািণজ° psাব �রখািট িনrপণ কেরা। 

(ii) বািণজ° psাব �রখার িsিতsাপকতা বলেত িক �বাঝায় ? ব°াখ°া কেরা। 

6+4

(d) “Factor intensity reversal do not cause any barrier in the way of factor price 
equalisation”– Do you agree? Explain your result.  
‘‘উপাদান িনিবড়তার �বপরীত° থাকেলও িবƬ বািণেজ° উপাদান মূেল°র সমতা অজ�ন সmব’’ — tিম 
িক একমত ? ব°াখ°া কেরা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2022 

ECOADSE04T-ECONOMICS (DSE3/4) 

CONTEMPORARY DEVELOPMENT ECONOMICS 

Time Allotted: 2 Hours  Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ� মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any five questions from the following:
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) A country experiences 7% growth in her GDP per annum. Is this feature sufficient 
for achieving economic development? Justify with two reasons. 
একিট �দেশ বািষ�ক ৭% হাের GDP বৃিd ঘেটেছ। এই �বিশŶয্িট িক অথ�ৈনিতক উnয়েনর জনয্ যেথŶ ? 
dিট কারণসহ িবচার কেরা। 

(b) When does government fail? 
সরকার কখন বয্থ� হয় ? 

(c) What is Dunkel Draft controversy?
Dunkel Draft িবতক�িট িক ? 

(d) What do you mean by environmental externalities?
পিরেবশগত বািহয্কতা বলেত িক �বােঝা ? 

(e) Mention the three sub-indices which are taken into account for measuring Human 
Development Index (HDI). 
মানব উnয়ন সূচক (HDI) িনধ�ারেণর �kেt �য িতনিট উপসূচক ধরা হয়, তা উেlখ কর। 

(f) What are institutional trajectories?
pািতŸািনক গিতপথgিল িক িক ? 

(g) State any two policy measures for ensuring sustainable environment in a 
developing country. 
একিট উnয়নশীল �দেশ পিরেবেশর দীঘ�sািয়েtর জনয্ �য-�কােনা dিট নীিত উেlখ কর। 

(h) What are the objectives of GATT?
GATT -এর উেdশয্gিল িক িক ? 

  
2. Answer any four questions from the following:

িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) Justify the ‘Capability approach’ towards economic development in any less 
developed country. 
একিট sেlাnত �দেশ অথ�ৈনিতক উnয়েনর �kেt সkমতার ধারণার যথাথ�তা বয্াখয্া কর। 
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(b) Discuss the main functions of the World Bank. 
িবƬ বয্ােìর মূল কায�াবলী আেলাচনা কেরা। 

(c) Do you think government failures lead to corruption? Explain your answer. 
tিম িক মেন কর রাŷীয় বয্থ�তা dন�ীিতর জn �দয় ? �তামার উtেরর বয্াখয্া কেরা। 

(d) Write about the structure and two objectives of WTO. 
WTO -এর কাঠােমা এবং এর dিট উেdশয্ �লেখা। 

(e) How is the application of state regulation on environment effective? 
পিরেবেশর �kেt রাŷীয় িনয়ntণ কতটা কায�করী ? 

(f) What are the important reasons for rapidly growing MNCs across the world? 
িবƬবয্াপী বhজািতক সংsাgিলর drত pসােরর pধান কারণgিল িক িক ? 

  

3. Answer any two questions from the following:

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) Discuss the impact of political and economic institutions on the economic 
development of a country. 
�কােনা �দেশর অথ�ৈনিতক উnয়েনর �kেt রাজৈনিতক এবং অথ�ৈনিতক pিতŸােনর pভাব আেলাচনা 
কেরা। 

(b) What do you mean by common-pool resources? In this context, explain the 
‘tragedy of commons’. What are the best way to manage the resources? 
‘সাধারেণর সmদ’ বলেত িক �বােঝা ? এই পিরেpিkেত ‘জনসাধারেণর dভ�াগয্’-এর ধারণািট বয্াখয্া 
কেরা। এই সmদ রkার �সরা উপায়gিল িক িক ? 

2+4+4

(c) What were the objectives behind the formation of IMF? Have the objectives been 
successfully realised? Justify your answer with arguments. 
আnজ�ািতক অথ�ভাčার (IMF) গঠেনর উেdশয্ িক িছল ? �য উেdেশয্ IMF গিঠত হেয়িছল, তা িক 
পুেরাপুির সফল হেয়েছ ? �তামার উtেরর পেk যুিk pদান কেরা। 

4+6

(d) Critically evaluate the role of Foreign Direct Investment (FDI) in fostering 
economic development in less developed countries. 
sেlাnত �দশgিলর অথ�ৈনিতক উnয়েন pতয্k �বেদিশক িবিনেয়াগ-এর (FDI) ɛিমকার 
সমােলাচনামূলক মূলয্ায়ন কেরা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ——×—— 
 



CBCS/B.A./B.Sc./Hons./6th Sem./ECOACOR13T/2021 

6011 1  Turn Over 

 
WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2021 

ECOACOR13T-ECONOMICS (CC13) 

INDIAN ECONOMY 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks.  pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের। 
Candidates should answer in their own words  পরীkাথ�ীরা িনেজর ভাষায় যথাসmব শbসীমার মেধ°  
and adhere to the word limit as practicable. উtর  কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following:
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is meant by economic planning?  

অথর্ৈনিতক পিরকlনা বলেত কী েবাঝায় ? 
(b) Mention two structural constraints that Indian economy faced at the time of her 

Independence.  

sাধীনতার সমেয় ভারতীয় অথর্নীিত েয কাঠােমাগত pিতবnকতাgিলর সm ুখীন হেয়িছল তােদর মেধয্ 
েয-েকােনা dিটর উেlখ কেরা। 

(c) Cite four major wage employment programmes adopted in India. 

ভারেত গৃহীত pধান চারিট মজুির িনেয়াগ pকেlর নাম েলেখা। 

(d) State two major changes in fiscal policy adopted in India in post Liberalisation 
period.  

ভারতবেষর্ উদারীকরণ পরবতর্ী যুেগ গৃহীত িফসকাল নীিতেত েয পিরবতর্ন এেসিছল তার মেধয্ েয-
েকােনা dিটর উেlখ কেরা। 

(e) In which sense Import substitution is costly for an economy?  

েকান অেথর্ আমদানী পিরবতর্তা একিট অথর্নীিতর পেk বয্য়বhল ? 

(f) What is poverty gap ratio?  

দািরdয্ ফাঁক আনুপাত কী ? 

(g) Mention two objectives of Labour Policy taken by Government of India. 

ভারত সরকার কt র্ক গৃহীত Ëিমক নীিতর dিট উেdশয্ েলেখা। 

(h) What is Population Explosion?  

জনিবেsারণ কােক বেল ? 
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2. Answer any four questions from the following:
িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) With suitable examples describe four cases where Indian planners faced problem 
of choice. 
ভারতবেষর্র পিরকlনািবদগণ েয পছেnর সমসয্ার সm ুখীন হেয়িছেলন তা চারিট উদাহরণ সহেযােগ 
বণর্না কেরা। 

(b) Distinguish between relative poverty and absolute poverty.  
tলনামলূক দািরdয্ এবং চরম দািরেdয্র মেধয্ পাথর্কয্ িনেদর্শ কেরা। 

(c) Mention four basic causes of growing educated unemployment in India in recent 
times.  
বতর্মান সমেয়র kমবdর্মান িশিkত েবকারেtর চারিট মূল কারণ উেlখ কেরা। 

(d) Write a short note on Export promotion versus Import substitution.  
রpািন pসার বনাম আমদানী পিরবতর্তা — একিট টীকা েলেখা। 

(e) What is demographic dividend?  
জনসংখয্ার লভয্াংেশর ধারণািট িক ? 

(f) What type of changes in the trend of poverty do we observe in India in the post 
liberalisation period?  
ভারতবেষর্ উদারীকরণ পরবর্তী যুেগ দািরেdয্র pবণতায় েয পিরবতর্ন আমরা লkয্ কির েসgিল কী কী ? 

  

3. Answer any two questions from the following: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) What were the major features of the Indian economy at the time of independence?  
sাধীনতার সময় ভারতীয় অথর্নীিতর �বিশŶয্ িক িক িছল ? 

(b) Critically examine the success of self-employment programmes to reduce 
inequality in income distribution in India.  
ভারতবেষর্ আয় বĊেন �বষময্ hাস করেত sিনযিুk pকlgিল কতদূর সফল হেয়েছ তা িবচার কেরা। 

(c) Analyse the role of public sector in the post-liberalisation period to achieve the goal of 
growth with stability.  

িsিতশীলতা সহ বৃিd এর লkয্মাtা অজর্েন উদারীকরণ পরবতর্ী যুেগ সরকাির েkেtর ɛিমকা িবেųষণ 
কেরা। 

(d) Evaluate the monetary policies taken by the Government of India.  
ভারত সরকােরর আিথর্ক নীিতর মূলয্ায়ন কেরা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2021 

ECOACOR14T-ECONOMICS (CC14) 

INTERNATIONAL ECONOMICS  

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks.  pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের। 
Candidates should answer in their own words  পরীkাথ�ীরা িনেজর ভাষায় যথাসmব শbসীমার মেধ°  
and adhere to the word limit as practicable. উtর  কিরেব। 

1. Answer any five questions from the following: 
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Differentiate between internal and international trade. 

অভ°nরীণ ও আnজ�ািতক বািণেজ°র মেধ° পাথ�ক° িক ? 
(b) How does the idea of comparative advantage differs from that of absolute advantage?  
tলনামলূক সুিবধার তtt ও চরম সুিবধার তেttর মেধ° পাথ�ক° িক ? 

(c) Mention two characteristics of trade indifference curve.

বািণজ° িনরেপk �রখার dিট �বিশŶ° উেlখ কেরা। 
(d) Distinguish between nominal and real exchange rates. 

আিথ�ক ও pkত িবিনময় হােরর মেধ° পাথ�ক° িক ? 
(e) Distinguish between Balance of Trade and Balance of Payment. 

বািণজ° ভারসাম° ও �লনেদন ভারসােম°র পাথ�ক° িক ? 
(f) What is factor intensity reversal?  

উপাদান িনিবড়তার �বপরীত° কােক বেল ? 
(g) Mention two non-tariff barriers of free trade. 

মুk বািণেজ°র পেথ dিট ǖlহীন বাধার উেlখ কেরা। 
(h) What is Metzler Paradox?  

�মজলােরর kটাভাস কােক বেল ? 
  

2. Answer any four questions from the following: 
িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) Explain the concept of “effective rate of protection”. 

সংরkেণর কায�করী হার বলেত িক �বােঝা ব°াখ°া কেরা। 
(b) How can you derive the elasticity of the offer curve of a country? 

�কােনা �দেশর ‘offer curve’ এর িsিতsাপকতা িকভােব িনণ�য় করেব ? 
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(c) State and explain the basic assumptions of the Hecksher-Ohlin theory. 
�হকসার-ওিলন তttিটর অনুমানসমূহ ব°াখ°াসহ �লেখা। 

(d) Justify the statement “ Balance of payment always balances”. 

িনmিলিখত উিkিটর ব°াখ°া দাও – ‘‘আnজ�ািতক �লনেদেন সব�দা সমতা থােক’’। 
(e) What is meant by Leontief Paradox? Suggest any one explanation of this paradox.  

িলওনিটএফ kটাভাস বলেত িক �বাঝায় ? এই kটাভাসিটর �যেকােনা একিট ব°াখ°া দাও। 
3+2

(f) What is meant by optimum tariff? Derive the formula of optimum tariff.  
কাম° আমদািন ǖেlর হার বলেত িক �বাঝায় ? কাম° আমদািন ǖেlর সূtিট িনণ�য় কেরা। 

3+2

  

3. Answer any two questions from the following: 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) (i) Show that gains from international trade can be decomposed into two 
components – gains from exchange and gains from production specialization. 

 �দখাও �য আnজ�ািতক বািণজ°-লাভেক dিট ভােগ ভাগ করা যায় – িবিনময়জিনত লাভ ও 
উৎপাদেনর িবেশষীকরণজিনত লাভ। 

(ii) Show a situation where entire gains from trade is due to specialization. 
 এমন একিট অবsা িববৃত কেরা �যখােন আnজ�ািতক বািণজ°জিনত সmূণ� লাভ ǖধু উৎপাদন 

িবেশষীকরণ এর কারেণ হয়। 

6+4

(b) Analyse the possibility of factor price equalization (a) without factor intensity 
reversal, (b) with factor intensity reversal. 

উৎপাদেনর উপাদানgিলর মূেল°র সমতার pসñিট ব°াখ°া কেরা যখন – (ক) উৎপাদেনর িনিবড়তার 
িবপরীতমুখীতা অনুপিsত, (খ) িবপরীতমুখীতা উপিsত। 

(c) Write a short note on foreign trade multiplier with repercussion. 
আnজ�ািতক সmক�যুk অবsার �pিkেত আnজ�ািতক বািণজ° gণেকর উপর সংিkp টীকা �লেখা। 

(d) Analyse the partial equilibrium effect of an import quota. When will the effects of 
tariff and quota be equivalent?  

আnজ�ািতক বািণেজ° আমদািনর পিরমাণগত িনয়ntেণর আংিশক সমিsিতজিনত pভাব আেলাচনা 
কেরা। আমদািনর পিরমাণগত িনয়ntণ এবং আমদািন ǖেlর ফলাফল কখন একই হেব ? 

6+4

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 ——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2021 

ECOADSE04T-ECONOMICS (DSE3/4) 

CONTEMPORARY DEVELOPMENT ECONOMICS 

Time Allotted: 2 Hours  Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ� মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any five questions from the following:

িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What do you mean by institution? 
pিতŸান বলেত িক �বােঝা ? 

(b) What do you mean by sustainable development? 
বহনkম/িsিতশীল উnয়ন বলেত িক �বােঝা ? 

(c) How do you define environmental externality? 
পিরেবশগত বািহয্কতার সংjা দাও। 

(d) What are the objectives of UNCTAD? 
UNCTAD-এর উেdশয্gিল িক িক ?  

(e) What is meant by ‘unequal exchange’? 
অসম িবিনময় বলেত িক �বাঝায় ? 

(f) Write two objectives of World Bank. 
িবƬবয্ােìর dিট উেdশয্ �লেখা। 

(g) What is private portfolio investment? 
বয্িkগত �পাট�েফািলও িবিনেয়াগ কােক বেল ? 

(h) Define global public good with an example. 
একিট উদাহরণসহ িবƬািয়ত সরকাির dেবয্র সংjা দাও। 

  

2. Answer any four questions from the following:

িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) What are the determinants of democracy? 
গণতেntর িনধ�ারকgিল িক িক ? 
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(b) Justify the capabilities approach towards economic development in a less 
developed country. 
একিট sেlাnত �দেশ অথ�ৈনিতক উnয়েনর �kেt সkমতার ধারণার যথাথ�তা বয্াখয্া কেরা। 

(c) What do you mean by sustainability of renewable resources? 
পুনন�বীকরণেযাগয্ সmেদর sায়ীt বলেত িক �বােঝা ? 

(d) State four functions of World Trade Organisation (WTO). 
িবƬ বািণজয্ সংsার চারিট কাজ �লেখা। 

(e) Discuss the role of MNC in the context of globalisation of developing countries. 
উnয়নশীল �দশgিলর িবƬায়ন কম�সূচীর পিরেpিkেত বhজািতক সংsার ɛিমকা আেলাচনা কেরা। 

(f) Do you think that economic activity is one important cause of climate change? 
tিম িক মেন কেরা অথ�ৈনিতক কায�কলাপ জলবায় ুপিরবত�েনর অনয্তম কারণ ? 

  

3. Answer any two questions from the following:

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) Critically evaluate the role of Foreign Direct Investment (FDI) in economic 
development of less developed countries (LDCs). 
sেlাnত �দশgিলর অথ�ৈনিতক উnয়েন �বেদিশক pতয্k িবিনেয়াগ (FDI)-এর ɛিমকার 
সমােলাচনামূলক মূলয্ায়ন কেরা। 

10

(b) How is Human Development Index (HDI) constructed? Why it is a qualitatively 
better measure of economic development than per-capita income? 
‘মানব উnয়ন সূচক’ িকভােব গঠন করা হয় ? �কন এিট অথ�ৈনিতক উnয়েনর পিরমাপক িহসােব 
মাথািপছু আেয়র tলনায় gণগতভােব উnততর ? 

7+3

(c) Critically discuss any one theory of dependency. 
�য-�কােনা একিট িনভ�রশীলতার তেttর সমােলাচনামূলক আেলাচনা কেরা। 

10

(d) Comment on the performance of state regulated institutions. Do you think that 
government failures lead to corruption? 
রাŷ dারা িনয়িntত pিতŸানসমূেহর কম�kমতা সmেক� মnবয্ কেরা। tিম িক মেন কেরা, রােŷর 
বয্থ�তা dন�ীিতর জনয্ দায়ী ? 

6+4

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
——×—— 

 


